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paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
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using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
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Note :

PHILOSOPHY

PAPER - III

This paper contains seventy five (75) objective type questions of two (2) marks each. All questions
are compulsory.

Recognise the Hetvabhasain,
All smoky objects are fiery.
The hill is smoky.
Therefore, the hill is fiery.
Codes :

(1)  Viruddha (2)  Prakaranasama (3) Asiddha (4)  Savyabhicara

2. Who among the following denies that perceptual experiences can be expressed in words :
(1) Jayrasibhatta alone (2) Dharmakirti alone
(3) Mahavira alone (4) Dharmakirti and ViSvanatha
3. According to which of the following schools Abhava is perceived through ViSesanata Sannikarsa ?
(1)  Sarnkhya (2) Bauddha (3) Nyaya (4) Jaina
4, If two propositions with the same subject and predicate can both be true but cannot both be false then
the relation between them is :
(1) Contradiction (2) Contrary (3)  Sub-contrary (4) Sub-Altern
5. Knowing the meaning of a pada by observing the behaviour of others is known as :
(1) Aptavakya (2)  Prasiddhapadasannidhya
(3)  Viddhavyavahara (4)  Vivarana
o-asss || LA z
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6. Match Set - I with Set - II and select the code correctly matched :

Set - 1 Set - II
(a)  Asatkhyativada (i)  Yogacara Bauddha
(b)  Atmakhyativada (ii) Prabhakara Mimarmsa

(c)  Anyathakhyativada (iii) Madhyamika Bauddha
(d) Akhyativada (iv) Nyaya
Codes :
(@) (b) (o) (d)
(H @ G a6 Gv)
(2 @ Gy >Gv) (i)
(3) Gi) (1) @Gv) (i)
(4) ai) @G 1) Gv)

7. In case of pot, the father of the potter is treated as :

(1)  Samavayikarana (2) Asamavayikarana (3) Anyathasiddha (4)  Nimittakarana

8. The karanata of paramanu saniyoga in the production of dvyanukais :
(1)  Samavayikaranata (2) Asamavayikaranata
(3) Nimittakaranata (4)  Samagrikaranata
9. According to Sankara the Jagatlooses its vyavaharikasatta when we have the realisation of :

(1)  Paramarthikasatta of Brahman only
(2)  Pratibhasikasatta of dream - objects
(3) Both Paramarthika satta of Brahman and Pratibhasika satta of dream-objects

(4) Temporal state of worldly objects

10.  Which bhitadravyas are nitya?
(1)  Akasaonly
(2) Marutonly
(3) The Paramanus of Ksiti, Apa, Teja, Maruta only
(4)  Akasaand the Paramanus of Ksiti, Apa, Tejaand Maruta
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11.  According to whom the liberated self is a bhakta?

(1) Saikara (2) Ramanuja (3) Madhva (4) Nirmbarka

12. Among the following, which one is not correct according to Madhva ?
(1) The jagatis real
(2) The Brahman is Supreme
(3) Moksa consists in the realisation of the inherent bliss of the Jiva

(4)  Brahman is nirguna

13. Among the following which one is correct according to Ramanuja ?
(1) In essence the jivais the same as Brahman.
(2)  Pratyaksais always nirvikalpaka
(3)  Prapatti is the royal road to Moksa

(4)  Brahmanis the seat of Avidya

14. The doctrine of ‘four gradations in Moksais advocated by :

(1)  Sariikara (2) Ramanuja (3) Nirmbarka (4) Madhva

15.  Jivanmukti though desirable is logically untenable - this view is held by :
(D) Sarhkara and Madhva (2) Ramanuja and Sarhkara

(3) Ramanuja and Madhva (4) Vallabha and Vacaspati

16.  The ultimate means to Moksa according to Sarnkara is :
(1) Karma (2) JAana Karma Samucchaya

(3) JAanaand Jiana alone (4)  All the above

17.  Performance of Karmainduces in the Sadhaka the desire to have moksa - this view is propounded by :

(1) Prakasatman Vacaspati Misra (3) Padmapada (4)  Anandagiri
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Match the following and choose the correct answer by using the codes :

List - 1 List - II
(a) Ramanuja (i)  Samkhya Karika
(b) Madhva (i1)  Tattva Vaisardi
(c)  Vacaspati Misra (iii) fribba‘gya
(d) Iswara Krisna (iv) Mahabharata tatparya nirnaya
Codes :

(@ () (© (@
(h Gi) Gv) @G) @)
(2) ap (@@ aGv) (i)
(3) Gv) (@) () (i)
4) Gy G @ Gv)

The meaning of a word is ‘Jativisista Vyakti’ is the view given by :

(1)  Vi$vanatha (2) Jagdisha (3) Udayanacarya

‘ Samskarajanya Jianam "refers to :

(1)  Pratyaksa (2) Anumana (3) Viparyaya

(4) Ramakrsna

4) Smrti

Given below are the two statements, one labelled as Assertion (A) and the other labelled as Reason (R).

Considering (A) and (R) in the context of Vedanta, select the correct code :

Assertion (A) 1 “‘ Vyaparavad asadharanam Karapnam Karapan’’

Reason (R) : Mind, being a common factor to all sorts of knowledge is to be regarded as an asadharana

Karana
Codes :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.
(4)  (A) is false but (R) is true.
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25.

26.
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The relation between Kriyatvaand Karakatvais known by :

(1)  Akanksha (2) Yogyata (3)  Sannidhi (4) Taarya

Which system of Indian Philosophy holds the view that Pramanya and apramanya of cognition is
paratah?

(1) Buddhism (2) PuarvaMimamsa (3) Vedanta (4) Nyaya

According to which system of Indian Philosophy Pramanya of cognition is Svatah and apramanya is
paratah?

(I) Nyaya (2) Bauddha (3) Vedanta (4) Pirva-mimarnsa

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Considering (A) and (R) in the context of Advaitins select the correct code.

Assertion (A) :  All cases of smoke are cases of fire.

Reason (R) : Universal proposition is really inferred from the universal concomitance between
smokeness and fireness.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

Given below are two statements, one labelled Assertion (A) and the other labelled as Reason (R). Considering
(A) and (R) select the correct code.

Assertion (A) :  Kant argues that space and time are the subjective forms of perceiving any object for all
human beings.

Reason (R) : Kant believes that since space and time are subjective in the same way for all human
beings, they are truly objective.

Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(A) is false, but (R) is true.
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27.

Which one of the following groups, correctly depicts Hume’s conception of relations dependent on
ideas alone ?

(I) Resemblance, Contrariety, Identity, Time and Place.
(2) Resemblance, Contrariety, Degrees in quality and Degrees in quantity.
(3) Resemblance, Contrariety, Time and Space, Cause and effect.

(4) Resemblance, Identity, Degrees in quality and Degrees in quantity.

28.  Consider the following statements in the light of Bradley’s theory of Appearence and Reality and mark the
correct code.
(a) We apprehend the nature of reality through its appearances, which are things of everyday life.
(b) Reality is related to appearances, and appearances are appearences of Reality.
(c) Reality is found in all appearances, but not in the same degree.
Codes :
(1)  Only (b) is false (2)  Only (b) and (c) are false
(3) Only (a) and (b) are false (4) (a), (b) and (c) are true
29. Heidegger’s concept of anxiety is the state of being into which individual falls :
(1)  When he sees that he alone has the question of being and the responsibility to answer it.
(2)  When he sees that he alone has the answer to all questions.
(3) When he sees everyone endowed with the question of being.
(4) When he rejects the question of being and responsibility to answer it.
30. Reality, according to Leibnitz is :
(1) Cannot be one but many and each is eternal and real.
(2) Cannot be one but many and each is temporal and unreal.
(3) Cannot be many but one and is eternal and real.
(4) Cannot be many but one and is temporal and unreal.
31.  Who among the following authored the work ‘‘Gender trouble’” ?
(1)  Simon de Bouvour (2) Luce Irigary
(3)  Judith Butler (4)  Allen Showalter
o-asss | [N ALANIN i
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32. Who among the following philosophers coined the concept ‘‘group-differentiated rights’” ?

(1) Thomas Hobbes (2) Amartya Sen (3) Will Kymlicka (4) Mac Intyre

33. 'Who among the following introduced the concept of ‘Annadayee Shrama Siddhanta’ ?

(1) Gandhi (2)  Vinobabhave (3) Tilaka (4) J.B. Kripalani

34. Match List - I with List - II and choose the correct answer from the codes given below :

List - 1 List - II
(Author) (Text)
(a)  Gandhi (i)  Rastriyata Aur Samajvada
(b) J.B. Kripalani (i1))  Gandhiji in Indian Villages
(¢) Mahadev Desai (1i1) Politics of Charakha
(d) Narendra Dev (iv) Ethical Religion (Niti Dharma)
Codes :

(@) () (© (@
(h ® Gy G (Gv)
(2) @Gv) @G @G) (@)
(3) G @) Gv) @)
(4) i) @Gy 1) @Gv)

35.  Which one of the following statements is not true with respect to Gandhi ?
(1) Non-violence is a law of human species.
(2) Means justify the end.
(3) End justify the means.

All lands belongs to Gopal.

st IHIIHIIIII|!||!|H||||H|“|\|H||\|HH|||\|!|\H||H|| 1

=

Paper-III



32.

33.

34.

35.

freafafed # | fora Srifter 7 wveera fasee sifaerl’’ o1 stargmon yfqarfed =t ?
(1) 999 gq (2) I o 3) faa feafawmr @) BFTErR

(\

frefafed | 9 fohem ‘ aeierll g9 fagra’ =it stagwon &t geard fean ?

(1) TR 2) oy (3) faa= (4) NS FOAH!

Tl - [ & ol - 11 § gafad < iR fefafed gl § 9 |@@ S &1 =97 &

T - 1 T - 11
(TEF ) (T=T)
(a) e () W iR FEeER
(b) .. FUAT (i) TS g sfream faeeg
(c) WERd | (ili) i i ==
(d) g <d (Gv) st defeq (Fifa-e)

Fe -
(@) (b) (o) (d)
(H @ G) @G (@Gv)
(2) Gv) (@) G @)
(3) @ (@) @A) @)
(4) Gi) @Gy @ (@Gv)

freafafaa wei § @ et F g § & 9 786 2
(1) Afgen #Ara sfa 1 o 71
(2) WEE, W % Sifaa # fog w7
(3) WA, WA % eiifaca i fag B
qHE i e #
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36.

37.

38.

39.

40.

Who among the following uphold ‘Village Republic’ ?
(1) Tagore (2) Gandhi (3) Vivekananda (4) Radhakrishnan

Which one of the following statements is true regarding Gandhi’s goal of ‘Constructive
Programme’ ?

(1)  Only providing economic relief to unemployed
(2)  Only distributing some wages to spinners and weavers
(3)  Only creating non-violent order of society

(4) All the above
Which of the following is the correct pair of prophetic religion ?
(1) Jainism and Buddhism (2)  Christianity and Islam

(3) Sikhism and Islam (4) Hinduism and Zoroastrianism

Match List - I with List - II and select the correct answer from codes given below :

List - I List - II
(Religion) (Aspiring Process)
(a) Buddhism (i)  Gunasthanaka
(b) Islam (i1)) Namasmarana
(¢)  Sikhism (ii1) Astangikamarga
(d) Jainism (iv) Praying five times a day
Codes :

(@ () (© (@
(1) @i Gv) @) (1)
(2) Gi) @ Gy (Gv)
(3) (» (i) @Gv) (i)
(4) Gv) @) @) (id)

Which one of the following philosophers believed that ‘intuition is the essential element in Induction,
the process in which thought rises from sense perception to the knowledge of Universals’” ?

(1 Aristotle (2) Pythagoras (3) Democritus (4) Protagoras

)
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36. Trefafed § @ fega oo qord=1’ o1 gl foean &2

(1) &R (2) T (3) faaer= (4)  THTFIR

37. T % TS FEHE F e % g ¥ frefafad s § 9 i 1@ w2
(1) et SUSIIRI 1 e7ifefer T@d Tg=m
(2) hadl HEE-SATE HI TCl hl HB HSIGH o IHT
(3) Had U § AfEdrcHs et & fHfHd &
(4) ST g4l

38. Trefafed § 9 SH-91 oG o o1 98 I 72
(1) 9 o iR dirg o 2) ZOE g9 iR swm g
3) foo o iR swom o ) feg o iR SRiftga i

39. eIl - [ &l GHl - 11 % 91 gafad w¢ ok 99 3 T F2i § 9t S0 H1 =997 &

T - 1 g - 11
(o) ( e18free ufewa)
(a) g g (i) TR
(b) T&IH (ii) AT
(c) Toxg ud (iii) ST=Ifg®
(d) S Gv) fea ¥ dfe or wefn e

%<

(@) () () (d)
() @Gi) @Gv) @G) (@)
(2) G @ Gy @Gv)
(3) () (i) @Gv) (D)
4) @Gv) @G @G >

40. fr=fafaa & @ o it o1 amen on fo ¢ e | o1 U9 Uk Sfeedeh 9 §, Wl gfswan foad
she gy 9§ gt 99 9 g g1

(1) & (2) UBITIRY (3) SHIHH 4) YRMRE
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41.

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Considering (A) and (R) select the correct code.

Assertion (A) :  Spinoza conceives error not as defect of knowledge.
Reason (R) : No idea is either true or false as such; what makes an idea true is the presence of an
appropriate object.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

42.  Which one of the following philosophers argued that two mutually contradictory statements might be
equally true, but one might be ‘‘better’’ than the other ?
(1)  Aristotle (2) Protagoras (3) Parmenides (4) Democritus
43.  Which one of the following statements is false with reference to Leibnitz’s theory of knowledge ?
(1)  All knowledge lies implicit in the mind
(2) Experience does not create knowledge
(3) Universal and necessary propositions can only be derived from the senses
(4) Leibnitz asserts the existence of ‘minute’ perceptions - perceptions of which the mind is
unconscious
44. The view that ‘Beliefs are the most natural and most metaphysical of all things; knowledge is the
practical outgrowth of beliefs and beliefs modify and shape reality’ is held by which one of the
following philosophers ?
(1) John Dewey (2) Kant (3) Descartes (4) Aristotle
45. Match the List - I with List - II and choose the correct answer from the codes given below :
List - 1 List - II
(a) Rationalism (i) Ayer
(b) Emotivism (i1)) Hare
(¢c)  Utilitarianism (111) Kant
(d) Prescriptivism (iv) Mill
Codes :
(@) () () (d)
(L ®» @G) @G (Gv)
(2) (i) @@  @Gv) (D)
(3) @Gv) G @G @)
(4) (@(v) @) @G) (@
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41.

42.

43.

44.

45.

9 feu U ) weAl § | UH R SAURA (A) 3R T R Ak (R) FT T A TE T (A) IR R) W

foaR 3d 3T WA Fe H1 97 HIT

AR (A) :  Togesn Ffe & 9 F far & &0 H T TEd |

T (R) : #h1g ot foaR oo o119 o W2 o1 Terd T 8, T S a%q i Sufefd T faar
I FEl ST R |

< :

(1) 3H (A) R (R) T2 T 3R (R), (A) T &l A& B |

2) 3 (A) R (R) T T AT (R), (A) T T =T T T

(3)  (A) TEl &, afed (R) @ B

4) (A) TTeId 8, Ak (R) T B

=1 o 4 g enifaes 3 g o foon fo S areafier fofianare o9 99F &9 4 99 8 9d &,
AR T, TR I ga § ek’ & Hehell © 2
(1) Y (2) WRrRE (3) ARSI (4) SHhH

AR i A HwE & Heof # frefafed § @ wF-91 %o Tea © 2

(1) Hyol 9 Afers & vga @ ffeq g1

(2) AI9E JME I T HIA |

(3) Wi iR Afared 9% Gl S Fadt Gagd gR & g fRar S gendr R
(4) TTEEATS G el 1 WRR AT ¢ TH1 goaet et ufd 799 o7 § |

“goft agatt & wfa favare et i v steia uiifass §; favam, I &1 wrefies fasm § &
forgard, @enel w1 IgAd SR SAHR YSH Fd & '-I8 RN Ffafad § § wHE-9 IRifes & § 2

(1) i fesit (2) i (3) THE (4) H

el - 1 o 919 G - 11 %1 Gafad &L Td = o T Fl 9 Tl ST & 6
Tt - 1 Tl - 11

(a) dfga (i) TN

(b) FIATER (i) T

(c) SUANAER (iii) &

(d) THIETE Gv) foa

< :

(a) (b) (c) (d)
(H () G i) @Gv)
(2) (i) 1) 3dv) (D)
(3) (v) G ai) (1)
(4) (@v) Gi) G @)
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46. ‘The political laws are the highest court of appeal in the matters of morality’. Which one of the
following persons hold this view ?
(1)  Spencer (2) Mill (3) Kant (4) Hobbes
47. Match List - I with List - II and choose the correct answer with the help of codes given below :
List - I List - II
(Authors) (Texts)
(a) Hare (i)  Metaphysics of morals
(b)  Stephen (ii)) The Right and the good
(¢) Ross (1i1)  Science of Ethics
(d) Kant (iv) Freedom and Reason
Codes :
(@) () () (d)
(h ©» Gy @G @Gv)
(2) @Gy @G @ o (@Gv)
(3) i) @Gy @v) @
(4) @Gv) @Gi) @G) (@)
48.  Which one of the following theory holds the view : ‘Eye for an eye’ ?
(I)  Preventive theory (2) Reformative theory
(3) Retributive theory (4) All the above
49.  Who among the following has said that ‘‘pleasure if ever good must be good in a different sense from
that in which good activities are so’” ?
(1) Moore (2) Ross (3) Ayer (4) Hare
50. Who among the following has said that ‘Autonomy is the basis of the dignity of human and of every
rational being’ ?
(1) Hobbes (2) Kant (3) Stevenson (4) Bentham
51.  Who among the following has given this statement ?
‘Act only on the maxim which thou canst at the same time will to become a universal law.’
(1) Kant (2) Hegel (3) Hobbes 4) Mill
o-asss | {HFINA AN 2



46.

47.

48.

49.

50.

51.

(1) =< (2)
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52.

Consider the following argument and argument form and choose the correct answer from options
given below :

(AB)0C plq
@ WB by P

Oc Ogqg
(1) (a) is the argument form of (b). (2) (b) is the specific argument form of (a).
(3) (b) is the argument form of (a). (4) (a) is the specific argument form of (b).

53.  Which one of the following options is correct regarding the weak and strong sense of disjunction ?
(1) In aweak sense (inclusive) of disjunction only one disjunct is true whereas in a strong sense
(exclusive) both the disjuncts are true.
(2) In a weak (inclusive) and strong (exclusive) both senses of disjunction both the disjuncts are
true.
(3) Ina weak and strong both senses of disjunction only one disjunct is true.
(4) Inaweak sense of disjunction both the disjuncts are true whereas in a strong sense of disjunction
only one disjunct is true.
54. Match the List - I with List - II and select the correct answer by using the codes given below :
List - I List - II
(a) DIMARIS (i) I’ figure
(b) FELAPTON (i) 1M figure
(¢) BAROCO (iii) 1Y figure
(d) DARII (iv) IV figure
Codes :
(@) () (¢ (d)
(LhL @ G @G 3Gv)
(2) Gy G @  Gv)
(3) @i @Gv) @G) (@)
(4) @Gv) @) @G) (@
o-asss | [N ALANIN 2




52.

53.

54.

= fed T de 3R Tk AR 1 1eFIT F A= fou MU faswmedi § 9 U S H =9I Fifu |
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@ WAB by P

0cC q
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g
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55. Mark the correct answer out of the following statements.
(a) Contradiction is a relation between propositions that differ both in their quality and quantity.
(b) Contrary is a relation between universal propositions.
(c)  Sub-contrary is a relation between particular propositions.

(d) Universal propositions are the principal or super - altern to particular propositions.

Codes :
(1) (a) and (c) are correct (2) (b) and (c) are incorrect
(3) (c) and (d) are incorrect (4)  All of the above statements are correct

56. Two statements are said to be logically equivalent in which one of the following cases ?
(1)  Their biconditional is tautologous  (2) Their biconditional is contradictory

(3) Their biconditional is contingent (4) Both have the same truth value

57. Which one of the following expression is the correct form of Demorgan theorem ?
(1) [(p=q)]1=[(p>9)"(g>p)] and [(p=q)I=[(p*Q)V(~p ~q)]
2)  [~(p@l=l(~pv~q)] and [~(pvQ)]=[(~p~q)]
(3)  [(p=(p-p)] and [p=(pvp)]
(4)  [(pq)=(q-p)] and [(pvq)=(qvp)]

58. The Invalidity of an argument can be proved through the shorter truth table technique in which of the
following ways ?

(1) By assigning the ‘True’ truth value to both the premises and the conclusion.
(2) By assigning the ‘False’ truth value to both the premises and the conclusion.
(3) By assigning the ‘False’ truth value to the premises and ‘True’ truth value to the conclusion.

(4) By assigning the ‘True’ truth value to the premises and ‘False’ truth value to the conclusion.

59. The obversion of the proposition ‘‘All leaves are green’’ is :
(1) Nonon-leaves are non-green (2)  Allleaves are non-green

(3) Some leaves are non-green (4) Noleaves are non-green

60. The common and essential teaching of all religions is :
(1) Morality is the cream of life
(2) Upgradation of social values
(3) Establishment of manava dharma of mutual love and respect

All the above
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55. i fe woAl @ WE S FI Hifwd wifeT
(a) SATENT qhaTIl & s Uk Gae § faH qehare o7 i it gt # fa=1 8 €1
(b) foodia Geiy wefeard} qehemerl & si= S |
(c) Tavg ey 3reamd qdharel & s &l €|
(d) AT qHATE AT qehaTel % S § |

%<
(1) (a) 3R (c) TR T (2)  (b) I (c) TeAd T
(3)  (c) 3R (d) Terd 1 (4) SYgE Gt Fod HE ¥ |
56. feAfated o 9 feg feafa 9 <1 e difdhes €9 9 997 g 2
(1) fomeh fgsuifas qaehem €1 ) T fgsuifues =amm §1
(3) TS fgsufus durer €1 (4) T FEM eIl o T § |

57. Tr=fafaa & @ SH-91 o AT fagm =1 & TR 82
(1) [p=q)I=l(p>q)"(@>P)] 3R [(p=q) I=[(p)V(~p-~q)]
2)  [~(p@l=l(~pv~)] IR [~(pva)l=l(~p~q)]
(3)  [(p=(p'p)] ¥R [p=(pvp)]
@ [pra=(a'p)] 3R [(pva)=(qvp)]

58. frefafed § @ fore R oy goamnret fafy g/ foedt gfaq &1 srdaar fag =t s wehdl 82
(1) T YR a1l T fshel o1 ‘e’ geaar 9o H9ifa #
(2) S STER gl e kel il ‘o’ woad qod feifia #
(3) STER 9Tl &l SHE’ Fd Iod T e i 9’ ge g fEiia
(4) STYR oIl T G qod a1 frehy &l o’ g goa i #

59. g o mdt gl g ©' o afdeda ©
(1) I J-vfwa o7efa &l € 2) a9t ufai eefa T
(3) &3l el €1 (4) 1S Ui stefid el €1

60. Tt ot Tt W SR STEvas fen €
(1) fqehar Sfteq &1 R R |
(2) ISR qAT T 3
(3) STIE U9 AR THE & A7 §H i T
(4) ST q+ft
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61.

62.

63.

64.

st IHIIHIII

Strawson explains in his book ‘Logical Theory’ that the ‘formal systems’ are useful in appraising one
of the following :

(1)  ‘Context-free’ discourse (2) ‘Context-bound’ discourse

(3) ‘Context-neutral’ discourse (4) All the above

Consider the given Assertion (A) and Reason (R) in the light of elementary propositions, verification and
metaphysical statements and mark the correct code from given below :

Assertion (A) :  Ifall statements are truth-functions of elementary propositions which report observations
then they will all be either empirical in themselves or else tautologies or contradictions.

Reason (R) : Metaphysical statements do not seem to be classifiable under any of these heads as
above.

Codes :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.

(4) (A) is false and (R) is true.

In Investigations Wittgenstein holds the theory of meaning known as :
(1) Picture theory of meaning (2)  Use theory of meaning

(3) Language - game theory of meaning (4) Speech act theory of meaning

According to Russell’s theory of the definite description the proposition ‘the author of Waverley is
Scotch’ is analysed as the following :

(a)  Atleast one person wrote waverley.

(b) At most one person wrote waverley.

(c)  Whoever wrote waverley is scotch.

Which one of the given below is correct code according to Russell ?

(1)  Conjunction of (a) and (b) (2)  Conjunction of (b) and (c)

Conjunction of (a) and (c) (4) Conjunction of (a), (b) and (c)

:
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65. Match List - T with List - IT and choose the correct code given below in the light of Peirce’s
classification of ‘Semiotics’ done in his book ‘Foundations of the theory of signs’ :
List - I List - II
(a)  Syntactics (i)  Describes the relation between signs and their interpreters
(b)  Semantics (i1))  Describes the relations of signs one to another
(c) Pragmatics (iii) Describes the manner in which they designate
Codes :
(a) (b)) (o)
(L Gy @G @)
(2) @G @G) @)
(3 ({©H () (>
4 () @i (D)
66. Consider the given Assertion (A) and Reason (R) in the light of Wittgenstein’s view of proposition and
mark the correct code given below :
Assertion (A) : A proposition’s range is identical with its ‘truth ground’.
Reason (R) : A proposition’s range is a conjunction of atomic propositions.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.
(4) (A) is false and (R) is true.
67. ‘‘Language is our second nature; it is through language that the world is opened up for us’’ - is the
philosophical position of which one of the following Hermeneutic thinkers ?
(1)  Schleiermacher (2) Dilthey (3) Gadamer (4) Heidegger
68. ‘Ontological turn’ is Hermeneutics is contributed by which one of the following philosophers ?
(1) Martin Heidegger (2) Ricoeur (3) Derrida (4) Habermas
69. Which one of the following Hermeneutic thinkers attempted to reconcile ontological hermeneutics
with critical hermeneutics ?
(1) Gadamer (2) Derrida (3) Ricoeur (4) Habermas
o-asss | [N ALANIN 2



65. EIT- 1 %! el - 11 & T Gafad witee ok 99 I 1§ § § W&t ST 1 9o e & o1t
T TRISSI 3T & LRI 31k Aew' # fohT T Hehd Tk g & afieh<ol & 3Telsh H &Y :
T - 1 Tt - 10
(a) ar fa=mg fagm () Ie g ud 3% 9 & S HelY k1 9 H1 B
(b) Hhd faam (i) 9% T fog & TR @ & daei &1 aviF & g1
(c) IR fagm (i) I8 W T 1 IUH Har & Fod o Fuifa 8 €1
?: @ ) (©
() () Gi) @)
(2) (i) () @)
(3) () () (i)
4) (1) @i (1)
66. IMUHAT (A) 3R ek (R) W fTaR #3d gL foei=aers & qehar & fo=m & e # =9 fou 7o
Fl H W TEH A A AT HIC
AafreRe (A) ;TR Tk o T UfRETHT 1 STF FeAdt SMUR | AR Bl ¢
@h (R) : forelt ok a1 1 Ui YXETTUae qeharal T TS el § |
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(3) (A)®E & R (R) T 2|
(4)  (A)TeTd € AR (R) WE €|
67. T TR fgdta Ufa €1 g W o RN € Hed § TR ST AR ford gen gen § 1 ¥w fefated
H ¥ fhm vmea Hmidty feas @1 faar 82
(1) TARES 2) feea (3) TEW (4) TESR
68. ITEAHHIET F  gaHHET Hig' <7 § frefated § 9 fRy gt @1 anem § 2
(1) wfATESR  (2) &R 3) == (4) TEAE
69. Tefafed 4 9 frg wreHEE f9as 1 SamEEs o Td gHlaes T § 99
Tonifiq fopam ?
(1) Tem 2) sfar (3) f&mR (4) EEAE
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70.

The phenomenological analysis of ‘consciousness of” has two sides as : (i) noematic and (ii) noetic.

Choose the correct option from the given below regarding their relationship :

(I)  Separable (2) Non-separable (3) Inseparable (4) Conjoined
71.  The goal of the study of Comparative Religions is the need to :
(1)  Understand inter - religious dialogues
(2)  Understand commonality and differences amongst religions
(3) To get at the core and harmony of plurality of religions
(4) All the above
72.  ‘Pratyaksam Kalpanapodam namajatyadya - ‘samyutam’. This definition of Pratyaksa was upheld by :
(1) Dharmakirti (2) Dharmottara (3) Vatsyayana (4) Dinnaga
73. Jhanakarapnakam Jianam Pratyaksam. This definition of Pratyaksa was formulated first by :
(1) Dinnaga (2) Gautama (3) Gangesa (4) Vacaspati Misra
74.  Which one of the following philosophers has said that ‘each one for himself to each one for others no
road’ ?
(1) Mill (2) Bentham (3) Kant (4) Martineau
75.  Which one of the following provides the metaphysical ground of morality ?
(1) Cordinal virtue (2) Freedom and Responsibility
(3) Immortality of soul (4) Growth of character
-00o0-
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71.

72.

73.

74.

75.

‘T 1 AT faverwor & < et (i) AeAfesd R (i) efesk |
T oY & IR § "o fou T fowmedi @ @& faswey &1 =9
(1) fausa (2) fawvsAa®m (3) srfaarsa (4) wHIH

¥Hl % qATCHER ST F ALT K SAEIRAT §

(1) ST<Rd Georal ol §HgH & fog

(2) oH % S FHEAr q91 3Ta ® FHEH % fou

(3) gHl =} fafagd o qa qo1 FHad H I FH 6 T
(4) STdF gt

"GIETH HETATIGH AT - GgFdH ' IAsl i TH IRV i fhe Hat aara ?
(1) gHeifd (2) YHRR (3) A 4) fogam

FTFETE 17 g, Ge F I8 AR Fe g fhEeh g1 gfauifcd i T off 7
(1) fegm 2) T (3) W (4) dreedfa fag

frafafea 9 9 fog t enife o1 € % g 39 fau @ yas 3= & fau =i 9t =61 &2
(1) fa= (2) M (3) F= (4) TR

Trefafad § 9 i faehar =1 a8 Mg SR Y[ id & ?

(1) SR o1 (2) TS AU IAEIIE
(3) SATCHT i STl (4) =RA &1 faw™
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